Day 2 - Review Continued...

Quadratic Functions:

o Degreeof 2. .Graphisa ﬁ’g Yo éo l ¢_ . First differences are not the same but second
differences are e Seme // bo NSta s ‘

e Forms
o Standard Form Y= Ax “whay c & #(0 . Y-interceptis < ;

o VertexForm Y= < (>~ kjf{' k y &< . Vertexis Ch ) (4)
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Example: Complete the square for y = —2x* — 12x + 3 and state the vertex.
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Example: Graph the parabola and state the domain and range of y = —2(x + 3)% + 4.
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Day 2 - Prerequisite Skills Worksheet

1. Determine each value for the function f(x) = —4x + 7.
a. £(0) b) f(-1) Q) f(-20)
= —Hla)+ T = —QeO+T = oy ()t
2. Determine each value for the function f(x) = 2x% — 3x + 1.
a. f(3) b) f(-1) c) 3f(2x)
= 26X 3¢t = 9t = 30+ =3 E2(2><)Z,'3(2%)+(j
= 19$5—9 +| = 2 43| ey gleé;(,d'l_j
— \C = > s 2,
3. State the slope and y-intercept of each line. 2AX — [BX +3
a. y=3x+2 b) 5x—y+7=0 c) —(x+4)=2(y-3)
=73 Zj = ;:r:-t—:?/ —— - =2 —€
b=2 m=>5 b= 2\3;‘ ,L/q+é
4. Determine an equation for the line that satisfies each set of conditions. o == ‘!ix T —
a. m=3andb =5 b) m = —4 and the line passes tl‘:jough (7,3) b=
jj: BxAS Yy= -4 (x—~7)+3

— —4Ux +3|

5. Use finite differences to determine if the function is linear, quadratic, or neither.
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6. State the domain and range of each function. Justify your answer.
1

a. y=2(x—3)2+§. b)y=x—+§ d) y={x—2l
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7. Determine the equation of a quadratic function that satisfies each set of conditions.

a. x-intercepts 1 and —1, y-intercept 3 i b) x-intercept 3, and passing through point (1, —2)
Y= a (x-1) Gett) Bz inc; Y= 4 (307 = 'XZ (x-30"
3= & (1)) o —2= a (137" = =% (e® 6"'£k(1_?

a = =2 o= ‘/1:’.-‘— = ,Lxﬂf*z-:c/B

TR

" Kj,_ = (X<-\) (DC+'> Page | 8




8. Determine the x-intercepts, the vertex, the direction of opening, and the domain and range of each
quadratic function. Then, graph the function.
a. y=((x+6)2x—5)

x= 3-6 %/ 5 epnsup

b)

y=-2x—-4)>*+8 >
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D= 2@ S R -‘13@1'2\35 8/7.5
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9. Identify each transformation of the functiony = f(x) as a vertical or horizontal translation, a stretch or
compression, or a reflection in the x-axis or y-axis, or any combination of these.

a y=—4f(x) by =1f() . y=fQx) d y=f(-3x) & y=[(-%
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Answers: o. _{, 3
1
a. 7 b) 11 c) 8x+7
2.
a. 10 b) 6 c) 24x*—18x+3
3
a. m=3b=2 bym=5b=7 m=-3 b=1
4.
a. y=3x+5 b) y =—4x+31
5. Linear
6.
a. {xeRL{yeRy=1} b) {x €R},x # 5},{y ER,y # 0} c) {xeR}L{y Ry =0}
i
7- i v ' -
a. y=-3(x+1Dkx-1) b) y=-1x*4+3x~3
=
8.
a. x-intercepts —6, g; vertex (—%, —?); opens up; {x € R}, {y ERy= —2?89}
Check graph with the geogebra or desmos website.
b. x-intercepts. 2. , & ;vertex (4,%); opens down; {x € R},{y €R,y <¢}
Check graph with the geogebra or desmos website.
9,

Vertical stretch by a factor of 4, reflection in x-axis
Vertical compression by a factor of§

Horizontal compression by a factor of y = f(2x)
Horizontal Stretch by a factor of 3, reflection in y-axis
Reflection in the y-axis
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